ol - (Crol: X2l
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
938,254 743,835 194,419
A (LB 22 E /AP 758,351 561,339 196,962
ol 2| 254,751 198,789 55,962
t2e 8,500 8,020 480
201 2Bt 8,500 8,020 480
02 2229 8,500 8,020 480
OXE K| 5,000
—ASSE 2,000,000 1CH 2,000
-t 2,000,000 1CH 2,000
— =X EIIR) 1,000,000 % 1CH 1,000
OAIEZH| 2/ 3,500
—212 |X 22/ 1,500,000 * 14! 1,500
—HLE| Y A RX) 22
200,00024%10Z 2,000
EEEER 10,062 1,640 8,422
101 o124| 5,938 0 5,938
M4 JR2ENEES 5,938 0 5,938
OstH e
76,9602+ 1H*702L*13] 5,388
OsdtHlgter 22X 401 282
550,000 % 14! 550
206 24| 3,084 600 2,484
01 HEH] 3,084 600 2,484
ong== =Z 7Y
5,0002%10&H 122 600
OstH e 2,484
-3¢ 1,92024%200 £ 384
—EHAHA 3,5002%600 £ 2,100
307 QI2H0IA 1,040 1,040
NEEEE 1,040 1,040 0
ooizol 15,0002 %324 122 540
OBOIALL X Z2IH] 500,00024 %17 500
HolE X2 51,840 48,480 3,360
201 LB 51,840 48,480 3,360
02 2229 51,840 48,480 3,360
OJIRE, 2ots ®IIe2
6,000 5405+ 12¢ 38,880
OJlZE, 2ot 22l
60, 00021 ¥540S*40/ 100 12,960
HHAECCTV S 3,440 3,200 240
201 2Bt 3,440 3,200 240
2 =2=29 3,440 3,200 240
ool rSpji=r=;
5,000 *43 ) A %12 2,580




A oHEO
I OLNDI AlRY(ULISTHUE/YULHHE)
ot oHEE 2l (G2 &)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
ODrS 2 E0CTV 22|
50,0002 %4374 A+40/ 100 860
2EZRASIAIY 43,699 12,079 31,620
101 Q1244] 21,858 4,397 17,461
04 JRIRI2ZXSES 21,858 4,397 17,461
OZNSHH|, YK sF22, UE=SFH FH|
eIFe 76,9602 x2H*30U * 13| 4,618
O==29 2 Mg ZHiJ| e
76,9602 42 +82Ux43| 9,851
O=EIVFIAY 018
76,9602 +8% *4 2 +33] 7,389
201 e 1,560 500 1,060
01 AL 22| 900 500 400
ONZIIAY ZHl Xt 50,0002 103 500
OZUZY S FHILX 200,000 *23] 400
02 S22 660 0 660
OBEsIFA(orl2l) ®IIQ3
55,0002 *12¢ 660
206 EHI 4,281 2,182 2,099
01 MHZ2Hl 4,281 2,182 2,099
OZ2 ¢ AKX =422 555
—HE LRUH 7L
15,0002*105 150
—glHl 2 b2 Y
5,000 *15Z+33] 225
— YT 2 6,0002I+*5E+63] 180
OulxIIE s + 1,920:21%300 £ 576
OulI=II & +¢ 3,000 +50H 150
O=Z2H 3ot & BAXY
2,00024*5002 1,000
OSHS SMUE= Z2LILZ Z4X(2RH) Yl &
HE7Y 5,00081 %2002 +23] 2,000
401 Al&HIZ=0HY 16,000 5,000 11,000
01 Al&ZHI 16,000 5,000 11,000
OSBAL SA2 AT L L2 24
6,000,00021% 14! 6,000
OSHXY T=+2(Xeial) Heldl
500,000 %202 10,000
OLEOI FOITIXIMH 29 9,300 5,200 4,100
201 LEH2 %Y 5,200 5,200 0
01 AL 22l 2,400 2,400 0
OLe2H| 2,400
—FOXXIME 22E2 2
200,00024*12& 2,400
02 S22 2,800 2,800 0




A orEH
I OMNOI AL (YLD DS/ UBIHE)
ot oHEE 2l (G2 &)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
OAAZEHIS A 1,000
—AIEEH X 22l
1,000,0002 %14l 1,000
03322 % HA 150,000 %12 1,800
405 KHAHE SH 4,100 0 4,100
01 AL EEF SH] 4,100 0 4,100
OFDIXRIMEH HBEHA 2517 2 4,100
—H3el 3,000, 0002 %1 4! 3,000
—NHEA 1,100,000 14! 1,100
EX NP 127,910 120,170 7,740
204 ZR4AH] 2,400 2,400 0
REEEEEL] 2,400 2,400 0
ONSREYE2A 100,000 x2Hx 122 2,400
301 LBtEAZ 125,510 117,770 7,740
07 EX - 01X - BHEEs2AZ 118,790 111,890 6,900
o0&+ 114,540
—-J|24y 300,000 x23H* 12 82,800
—&0= 300, 00024 %23 %200% 13,800
— 3| E MGt
20,0002 x23Hx25]* 122 11,040
—0| - S& SAlH| X
OFA 8125, 000 R * 122 +23% 6,900
OptE =g 25,0002 %235|+85H 4,250
11 #ALAHIXIR 2 6,720 5,880 840
ORlgsior €9 S 5|2&AT 24!
8,000 70122 6,720
ATE FOIHOIALY 503,600 362,600 141,000
ARD FOIHOAIY 503,600 362,600 141,000
401 A& HIL 20| 503,600 362,600 141,000
01 AI&HI 500,000 360,000 140,000
OARSD F0IHOIALY 500,000
—AEIE BUA 012 SRUKTA
200,000 %100m 20,000
— Q22| BHE HHSZEHIZAL
100, 00024%200m 20,000
—AIF32] 0K20r2! HHIZAH
200, 0002%100m 20,000
—OhAlR| AR Q| 1HA Bi:2EHIZA}
100, 0004%200m 20,000
—OrAIPR| OISOt HHA2FHIZ AL
100, 00024%250m 25,000
—UEe BEE =2 2 AEEHIZA
500,00024*50m 25,000
—246HE] HAIZ HHL2FHIZA
100, 00024%200m 20,000




A orEe
MR ORI ARl UMERUE) UpieE)
S ARE FOIHEHAAIY CEEEED
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
— 3422 BHE =2 ZUISAt
100, 0002 *200m 20,000
—0E12| HH0IE =+=2FUISA
200,000 *150m 30,000
—0S22] A== =2 ZHISAt
100, 000& *200m 20,000
—oNiel BB Le=2 HHTA
300,000& *100m 30,000
—oJpel HE HIBEHIZA
300, 0002 *100m 30,000
—=Z12l MOt tH=& FHISAt
100, 0002 *200m 20,000
—=&22 2elURE MEEHISA
200,000&*100m 20,000
—2gcl d=5= sZAIE ZHISA
200,000& *100m 20,000
—32c| XE sZ2EE3M
200,000& *100m 20,000
—MBI1E] MBS AIIRUIBAF
200,000 *100m 20,000
—ME2e| ZAE 2 A ZHIEBA
200,000 *100m 20,000
—=¢2| BtXI0| =2 YIS At
100, 000& *200m 20,000
—H&gel AM0IE 2 1A S2EEIAL
200,000 *100m 20,000
—3e| EXE =2 ZHISA
100, 0002 *200m 20,000
—CE1e] ZAZA0HE ZHISA
200,000 *100m 20,000
—ChEZL| NEZE SZ2EESA
200,000 *100m 20,000
03 AIZSCHYI 3,600 2,600 1,000
OarE FRIHAAIY AIZS0H]
3,600,000 * 14! 3,600
SHA2HAYI(HE ™) (DIEH/JIEH 179,903 182,446 A2,543
oI 2ZH| 67,315 66,238 1,077
ST 67,315 66,238 1,077
101 el44| 67,315 66,238 1,077
01 2= 67,315 66,238 1,077
OARteIRR4g
11, 1303 % 14Z+36 A2t 12& 67,315
23| 112,588 116,208 A3,620
J|l2&| 112,588 116,208 3,620
201 L2 | 50,088 47,508 2,580
01 At22teld| 33,690 32,310 1,380
O=AEx 7Y 20,0002+ 158 Ax 122 3,600




SA: OHEE
M HH2AAH|(QHHE) (JIEHIIEH
Sl Jl2d| (crel: M)
S - ZE . O9l(B) - KIRAY - BES Ollaro ] Hlms2
OS204AMHI 8,0002 #4A1x 152 %122 5,760
Otz 100,000 %122 1,200
0ARR TATLH] 50,00081% 12 600
OARD 24| 7,200
—=A| 22 500, 000241 CH 500
—Z2I £2 100, 0002 *4CH*50% 200
—=AD| El 200,000 *53] *1H 1,000
—I2IE El(=%)
200,0002 *53| *4LH 4,000
—I2IE EH(ZY)
200,0002 %33 *1H 600
—PC 2| 100, 00024 % 15CH*20% 300
—JIEt 22| 50,0002 122 600
OJIEH AR2t2IH] 5,0002* 15122 900
Og - =2 14,430
—ax 60,0008 1% 1162 6.960
—=%| 30,0008 124%249Y 7,470
02 ZZ2YH| 16,398 15,198 1,200
OBZR2 2 HAl 16,398
—XIIQB(HAH 900,000 * 122 10,800
—SMgs AIZE 14,0002 % 12CH 168
—2uez 180,000 * 122 2,160
—®| QHEAAL 222
150,000 *23] 300
—AleteE Q2 70,00021% 122 840
—&20| OHER| (i 242
165,000 * 122 1,980
—Z2D| BIIHAH 150,0002*13] 150
202 01| 48,600 48,600
01 =LHoTtl 48,600 48,600 0
OZLHoAH| 20,00091%15%* 122 %122 43,200
O22l04H| 90,0002 % 15 *4 5,400
203 AREAH]| 10,200 10,200 0
IPIEEEEEES 6,600 6,600 0
OE J|22IAPEAIH|
6,600,0002% 1< 6,600
02 HAIIAARETIY| 600 600 0
OFIMAREAIY| 40,00094% 152 600
04 PASLARET| 3,000 3,000 0
ORANSIARETIH| 250,0002* 122 3,000
204 ZR5AH| 2,400 2,400
EEEEEESER] 2,400 2,400 0
ORI AR 2,400




SA: orEp
I SA2HAL|(F) (IEHIIE
ool JI=3t] (Crel:mel)
% s S[E]
SA - M - S9I(3|H) - HIRA - BaS Ol kot e limE=
—oig 150, 00084+ 124* 128 1,800
—FHE 50,0002 *1H* 122 600
405 XHaHE S 1,300 7,500 6,200
01 AL 2EFSH 1,300 7,500 6,200
O=2MAIED| 7 1,300,000 *1CH 1,300




